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� ووا���
� 	� ا����ء��
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 :            أآ�$ 
# ��� : ا�! ال ا�ول 
 
 ا�����#ت إ�- *�د ا��,�,#ت *�د  )!�	-1
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�8ازي ا�67ع4�2 ا�����ف إ�- *�دأ2
#ل )!�	   -2      =  
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وزن ه#)� هA  : 8@ن وزن =��� 5 : 6وزن =��� ه8 : إذا آ#ن وزن ه#)�  -3
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9-    	��P�!
 4ن *�7�#   و آ#2  :  3إذا آ#)M ا��!�	 ��� 8Cل و*�ض ��Iة 
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10-  $ٌSر TPE�35 6لU 7 آ� 	A#!
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A ،آ� إذا 5 =#*#ت 
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�]ل إذا *�$ �8اTF ���18#ج �Z#غ  -11 	\#�]� #ً
8� 4#ً�
A@ذا ,   =#*#ت �8
12 ���� *���	 ا�[�#\	 �A  أنأراد_EA #ً
8�   ,�
A $4 آ

� ا���$ ��] 	*#= 
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12-    T�P�!�256ً
#*  �Iأ aZة  ر�
 �A ق�Pآ� , أ�#م7ا� aZ�� ]م�6ً �
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X�(  �A c��Pة ا��
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� ا���#س و ا��Z#ص ��!�	   -13 	*8�]
 	
  A@ذا  آ#ن  وزن 2 : 3=��
 	
 وزن آٍ$ 
� ا���#س وا��Z#ص  ؟�S  , #�A 20ا�!��

 
 
 
 
 
 
 
 
 
 
�TA ا�ول    -14A رة#�f �A ن#]g2  ا�,#)�  ,  د��#راً 5000إ��2ك TA7000ود  

�#�	 ا��#م  , د��#راً ( �A ر�#ح�ا Mj�� ذا@A2400 ًد��#را   , �
 #���
H�]( #�A آٍ$ 
 ا�ر�#ح   ؟  
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 . د��#راً I#ل *��4 ا��8ل8000 
 
 
 
 
 


� آ#ن ا����k ؟,   د��#راً  lٌg2250 زآ#ة أ
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 E!�� ا���#=��ا��
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� ووا���
� 	� ا����ء��
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�رت �nو��� 4f�f lg2 �A8fُ , k#رآً# أ
ً# وزوS	 وا���� و���ً# -17F7200و 
�� ؟, د��#راً�
 H�]( #�A آٍ$ 
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� ا��
���  ؟�� #�7�*  r�]� �
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20-#��8C  $
qا� 	��P�!
�jZت A[#ر ,  =�10و*�7�#,  =� 8Z 12رة  
 #��8C6   #�� )!�	 ا��[��j. =�5=� و*�7Sأو. 
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� ووا���
� 	� ا����ء��
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� �!#وي  -21�A u��ا� �!S 8لC س 5إذا آ#ن#�E�� 	
8=�
 	P��U -�* �= 
� ا�8Pل ا���E�E ���!�, 500000:  1ر=� SوsA. 
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� 	� ا����ء��
� � 

 
 
 
 
 
 
 
 
 
 
 
� �F#س ا�]او�	 س  -25Sأو. 
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� ووا���
� 	� ا����ء��
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26 : ��� #

$ ا��#�� 
�8ازي أ67ع ، أآ�$ qا� �A : 
 ب  =�6 

  أ ..= ......... هـ د  8Cل .1
 
  =�5 = ............... د أ 8Cل .2
 
        Sـ = ............. ب د 8Cل .3
 
 = ............ Sـ د 8Cل .4
 
 =................. هـ ب  8Cل =�، A@نS  =12ـ ب 8Cل إذا آ#ن. 5
 

$ أ ب Sـ د . 6qا� _��
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28 : 4�A يy67ع أ ب د م ، ا��8ازي ا�
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��404P) = أ ب د (  =�، ق 8C ، �=  =3ل ب د 8C =5ل أب  �Sأو �n ، . 

 
 
 
 
 
 
 

 د
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� 	� ا����ء��
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29 : ���
 $�#E�ا� $
qا� �A 4��7 8لC5�=  . ـS4= ، ب هـ =�6=إذا آ#ن أ�=  .
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� ووا���
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� ووا���
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33-��I �Sأو ��� #
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34-��� #
 �Sأو u
#

$ ا�yي أqا� �
 : 
1 . 4Sو�د ا�*............= 

�د ا��ؤوس . 2*..........= 

�د ا��Iف . 3*..........= 
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 =.................ا�8Pل . 5
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